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Show all your work!
‘1. (6pts) Find the equation of the line (in form y = mx + b) that passes through points
(=1,=2) and (2, 3).
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2. (10pts) Find the equation of the line (in form y

= mx + b) that is parallel to the line
2r — 5y = 7, and passes through point (3, —2). Draw both lines.
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3. (10pts) Use slopes to show that the triangle with vertices A = (=271), B = (1,3),
C = (9, -1} is a right triangle. Do not use the Pythagorean theorem.
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4. {4pts) The number of used jets for sale worldwide has increased from 1022 in 1999 to
3014 in 2009. Find the average rate of change in the number of used jets for sale from 1999
to 2009.
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5. {10pts) Dougie's Apparel buys a cargo van for $21,000. It expects the van to last 7
years, at which time they expect to be able to sell it for $5600. For tax purposes, theyv need
to know the estimated value V(1) in every vear of operation.

a) Write a formula for V' (1), assuming that it is a linear function (that is. the value decreases
by the same amount every year).

b) What is the estimated value of the van after 5 vears?

1 - FL (;/{ AN = = o
B .r r;-: -+ 'i Lo £ e/l e .-"l,_, | I"JI {F - & 'CI:TI_L,} = 4 ?[;Je 3
! = L] || - o}
L ) /! £ ron e | L e "d_f’ dia b
= TNy { O 2 a0D )]s ?.-f'" = T A
o Bve Progh (2071 - 0000
m hewaLE _;"
Stao — 21060 -5‘?03:,}:,__13 )
- ——Snl =i ol -
= EE) Ly |'- e ;:?J_I_fﬁ 5’.']:', ) ar Jor Val J:/_'(u.{.-
LSy i II [ .
L ' : e ep
= It_,.li_lé ﬂ' 'i_l = '_'f—:.'; £ 2N H._"'II‘.; i 4y
= | Het -—_\-_-_‘_'_':_l -.I\.,I e : (
o = ; UII | :I Ity

6. (20pts) A grocery store manager experiments weekly with prices of a 9oz bag of kettle-
cooked potato chips in order to model the relationship between price and sales. The table
shows the data, where 7 is the price of a bag, and 5 is the number of bags sold in a week.
a) Draw the scatterplot of the data. Does the relationship look linear?

b) Use two points iu the scatterplot to get an equation of a line that models the relationship
between P and S. Draw the line on the graph.

¢) Use your caleulator to find the “line of best fit” for the data. Draw the line on the graph.
d) Find the coeflicient of correlation . How strong is the linear relationship between F
and §7

e) What sales does the manager expect if the price is sel at $2.297

- f | S -
P 5 f-f;f,ﬂfLJI]ﬁ:-,_fr-'":;-r Legicy Uitesy
el ) Us (145, 251) A (2'.351 s
1.95 | 231 e e S
2.05 | 222 e =L =0
2,19 | 198 ) 33«:3\“‘;_;" z f;[.('ff

2.39 | 175
2.59 | 152

== 14T 59x + 118 03T 19 y =~ [2.20707% + 479, e
o~ | L Gt

36)- | §9.)9154




